ID#:0000027

Sub-Charter of: (00000323) ITS-END USER TECHNICAL SUPPORT

02/14/2013

|--|

Description:

Plan, budget and implement yearly computer equipment rotation. Each type of equipment has its own rotation schedule. See budget descriptions for the rotation time frames.

Requestor: BILL BOHN

Lead: RICHARD JEPSON

Team Members:

Customer:

All ITS stakeholders

Why (Level of importance & relation to mission):

The ITS Mission is to provide the equipment (tools) and services to optimize our stakeholders access to information. By regularly rotating the College's equipment, we provide optimal performance levels.

Expected Outcomes:

Plan and budget to replace various equipment categories on a yearly basis.

The activity of regular incremental replacements evens the yearly budget requirements, and provides steady, optimal computer tools to our users.

This yearly process also includes the flow of existing equipment to new locations and usages (or declared surplus).

Purging older equipment will lessen technical support time.

Newly acquired equipment will be placed as needed except for computer replacements.

New computers are placed in the computer labs & commons areas. The replaced computers are distributed to Staff & Faculty (or declared surplus).

As much as possible, the computer labs will use the same printers as in the common areas. This is to help assure the same printouts in different areas of student printing.

The actual replacement quantities are noted on the individual budget line descriptions.

Established: Expected Start:		Expected	Actual End:		
02/16/2008	01/20/2008	/ /		/ /	
ACTION ITEMS:		Start Date	Expected End	Actual En	d
Printers (3-b/w, 1-color) - I	For PC labs & Library				
-[Lead: STEVE WADSWO	RTH]	08/08/2008	09/05/2008	09/19/2008	Completed
New b/w printers for	r TD 3.102 & 3.103, and a color j	prtr for library. ITS sh	ould get back two	deskjets from th	ne library
after the color printe	r is installed.				

02/14/2013

ID#:0000027

=

ACTION ITEMS:				
	Start Date	Expected End	Actual En	d
Business Office Replacement -[Lead: STEVE WADSWORTH] Purchased from 07-08 budget	08/08/2008	06/15/2009	06/03/2009	Completed
Replace HR Skills Lab (15)				
-[Lead: STEVE WADSWORTH] 15 new pc's	08/15/2008	09/15/2008	09/01/2008	Completed
Replace TD Skills Lab (8)				
-[Lead: STEVE WADSWORTH]	08/15/2008	09/15/2008	09/10/2008	Completed
08/09 Server Room Backup Batteries				
-[Lead: CINDY CRAMPTON]	01/29/2009	04/15/2009	10/07/2009	Completed
Inventory Back-up batteries. Record serial numbers, n and budget items with dates of replacement due dates		and date need replace	ced. Make a list	t as action
Replace Library (50)				
-[Lead: STEVE WADSWORTH]	05/05/2009	06/15/2009	06/01/2009	Completed
09/10 Purchase 10 Replacement battery backup Units				
-[Lead: CINDY CRAMPTON]	06/20/2009	07/30/2009	07/22/2009	Completed
Floor 3 (2) units (cisco) (hp) (2) for spares. Determine labs to replace 09-10 IL and: STEVE WADSWORTH	07/25/2000	02/28/2010	02/28/2010	Completed
-[Lead: STEVE WADSWORTH]	07/25/2009	02/28/2010	02/28/2010	Completed
Replace RET 1.062 (20) -[Lead: STEVE WADSWORTH] PO17141	09/11/2009	10/15/2009	10/01/2009	Comulated
Determine Printers & Laptops to replace				Completed
μοιοιμαίο τημιστό οι μαρισμό το τομίασο				Completed
-[Lead: STEVE WADSWORTH]	09/25/2009	08/31/2010	07/29/2010	Completed
				Completed
-[Lead: STEVE WADSWORTH] No replacements will be made at this time. Four new				Completed
-[Lead: STEVE WADSWORTH] No replacements will be made at this time. Four new				Completed
-[Lead: STEVE WADSWORTH] No replacements will be made at this time. Four new Replace Nursing lab (14) -[Lead: STEVE WADSWORTH] PO18305	printers will be used t	o replace those tha	t fail in the futu	Completed
-[Lead: STEVE WADSWORTH] No replacements will be made at this time. Four new Replace Nursing lab (14) -[Lead: STEVE WADSWORTH] PO18305	printers will be used t	o replace those tha	t fail in the futu	Completed rre. Completed
-[Lead: STEVE WADSWORTH] No replacements will be made at this time. Four new Replace Nursing lab (14) -[Lead: STEVE WADSWORTH] PO18305 Replace HRICC Commons (10) -[Lead: STEVE WADSWORTH]	printers will be used t 01/07/2010	o replace those tha 03/11/2010	t fail in the futu 02/11/2010	Completed rre. Completed
-[Lead: STEVE WADSWORTH] No replacements will be made at this time. Four new Replace Nursing lab (14) -[Lead: STEVE WADSWORTH] PO18305 Replace HRICC Commons (10) -[Lead: STEVE WADSWORTH] PO18305	printers will be used t 01/07/2010	o replace those tha 03/11/2010	t fail in the futu 02/11/2010	Completed
-[Lead: STEVE WADSWORTH] No replacements will be made at this time. Four new Replace Nursing lab (14) -[Lead: STEVE WADSWORTH] PO18305 Replace HRICC Commons (10) -[Lead: STEVE WADSWORTH] PO18305 Replace RET Blng4 (4) -[Lead: STEVE WADSWORTH]	printers will be used t 01/07/2010 01/11/2010	o replace those tha 03/11/2010 04/11/2010	t fail in the futu 02/11/2010 03/11/2010	Completed are. Completed Completed

_

ID#:0000027

02/14/2013

ACTION ITEMS:	Start Date	Expected End	Actual Er	nd
10/11 Order 25 Computers for Lab 3.102				
-[Lead: CINDY CRAMPTON]	08/04/2010	09/30/2010	08/16/2010	Completed
E-quote Number: 1012294208263. Optiplex 980				
OptiPlex 980 FLX-HD Desktop for Standard Power Sup 64-bit, English @ \$1314.98 each. Total \$32,874.53	ply, Genuine Wind	dows® 7 Profession	al wXP Mode,	No Media
Replace 3.102 (25)				
-[Lead: ADAM GIETL]	08/11/2010	09/30/2010	09/15/2010	Completed
PO20652				
Replace Podium PC's (30) (HR-8 TD-22)				
-[Lead: JARED LANGDON]	10/11/2010	09/25/2011	03/26/2012	Completed
HR Podiums replaced. 8/12/11				
TDC Podiums replaced all but three - next two weeks				
Replace 1.351 (12)				
-[Lead: RON WATRUS]	02/13/2011	08/30/2011	12/28/2011	Completed
11/12 Order Eq Rotation- Battery Backup replacements - Wl	RECLOSETS ??	' in		
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	04/23/2012	Completed
Eq Rotation- Battery Backup replacements - WIRECLOS	SETS ?? in budget	??		
11/12 Order Eq Rotation- Desktop computers (1/5 replaced j	per yr) (2+ labs w	orth		
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	04/12/2012	Completed
Eq Rotation- Desktop computers (1/5 replaced per yr) (2 Ea increased from \$900 ->\$1050) Replacing 3 labs Pric		•		(Price per
11/12 Order Eq Rotation- Laptop replacements/upgrades (to	tal 70 / 5yr = 15)	Cos		
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	04/23/2012	Completed
Eq Rotation- Laptop replacements/upgrades (total 70 / 5y	r = 15) Cost adj i	n 2011		
11/12 Order Eq Rotation- Replace or upgrade monitors (4%	of 450= 18) (used	ł 15)		
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	04/23/2012	Completed
Eq Rotation- Replace or upgrade monitors (4% of 450=	18) (used 15)			
11/12 Order Eq Rotation- Scanners/Faxes (total: 36 units / 8y	rs = 4/yr) (2010)			
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	04/23/2012	Completed
Eq Rotation- Scanners/Faxes (total: 36 units / 8yrs = 4/yr	c) (2010 was 5x\$5	(00)		
11/12 Order Eq Rotation- Server Replacement (9 / 3yr = 3) (34-Win, 14-Netwa	are)		
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	05/01/2012	Completed
Eq Rotation- Server Replacement $(9 / 3yr = 3)$ (34-Win,	14-Netware) Man	y are virtual - Only	replacing 2 du	e to budge
11/12 Order Batteries - Data Center Main UPS system - repla	ace all batteries -	5		
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	03/12/2012	Completed
Batteries - Data Center Main UPS system - replace all ba	tteries - 5 yr cycle	- CHECK ON PRI	CE	
11/12 Eq Rotation- Surge Protectors (New 2012-13)				
-[Lead: CINDY CRAMPTON]	07/01/2011	05/01/2012	03/12/2012	Completed
Eq Rotation- Surge Protectors (New 2012-13)				

_

_

02/14/2013

ACTION ITEMS:	Start Date	Expected End	Actual En	ıd
11/12 Order - Battery Backup Units - Desktop (75 / 3 yr = 25)) (30 are podiu			
-[Lead: CINDY CRAMPTON]	07/01/2011	05/15/2012	03/12/2012	Completed
Order -Eq Rotation- Battery Backup Units - Desktop (75 to \$60 (need to be purchased with a pc for best price)	/3 yr = 25) (30 ar	e podiums) 2011-1	2 changed qty t	o 25 & cost
11/12 Order Eq Rotation- Printers (total: 70 units / 8yrs = 9)				
-[Lead: CINDY CRAMPTON]	07/01/2011	05/30/2012	05/08/2012	Completed
Eq Rotation- Printers (total: 70 units / 8yrs = 9) 09-10 Reduced cost from \$2300				
11/12 Order Eq Rotation- Podium system Equipment(multi-	media) replaceme	nts- all		
-[Lead: CINDY CRAMPTON]	07/01/2011	06/30/2012	06/30/2012	Completed
Eq Rotation- Podium system Equipment(multi-media) re	placements- all sys	stems \$ estimate		
Replace HR1.304 (25)				
-[Lead: RICHARD JEPSON]	02/09/2012	08/30/2012	06/01/2012	Completed
Team Members: RON WATRUS, KRIS LANGDON				
Replace 1.334 (7)				
-[Lead: RICHARD JEPSON]	02/09/2012	08/30/2012	08/08/2012	Completed
Team Members: RON WATRUS, KRIS LANGDON				
5x OptiPlex 990s were installed in room 1.334.				
Replace HR 1.309 (24)				
-[Lead: RICHARD JEPSON]	02/09/2012	08/30/2012	06/11/2012	Completed
Team Members: RON WATRUS, KRIS LANGDON				
Replace HR 1.202 -204(12)				
-[Lead: RICHARD JEPSON]	02/09/2012	08/30/2012	06/01/2012	Completed
Team Members: RON WATRUS, KRIS LANGDON				
Order Eq Rotation- Desktop computers (1/5 replaced per yr) (2+ labs worth			
-[Lead: RICHARD JEPSON]	07/01/2012	10/05/2012	11/06/2012	Completed
Team Members: CINDY CRAMPTON				
(1/5 replaced per yr) (total: 200/5=40)(2 labs worth) (fir	st 10 are for facult	y & misc needs)		
Order Eq Rotation- Desktop computers (1/5 replaced per yr) (2+ labs worth			
-[Lead: CINDY CRAMPTON]	07/01/2012	11/09/2012	11/08/2012	Completed
Team Members: CINDY CRAMPTON				
(1/5 replaced per yr) (total: 200/5=40)(2 labs worth) (fir	st 10 are for facult	y & misc needs)		
Order Eq Rotation- Surge Protectors (New 2012-13)				
-[Lead: CINDY CRAMPTON]	07/01/2012	05/01/2013	/ /	Open
Eq Rotation- Surge Protectors (New 2012-13)				
Order Batteries - Data Center Main UPS system - replace all				
-[Lead: CINDY CRAMPTON]	07/01/2012	05/01/2013	01/31/2013	Completed
Batteries - Data Center Main UPS system - replace all ba	atteries - 5 yr cycle	- CHECK ON PRI	CE	

ID#:0000027

_

02/1	1/20	112
02/1	4/20	15

02/1	4/2015			
ACTION ITEMS:	Start Date	Expected End	Actual E	nd
Order Eq Rotation- Laptop replacements/upgrades (total 70	/ 5yr = 15) Cos			
-[Lead: CINDY CRAMPTON]	07/01/2012	05/01/2013	/ /	Open
Eq Rotation- Laptop replacements/upgrades (total 70 / 5	yr = 15) Cost adj i	n 2011		
Order Eq Rotation- Printers (total: 70 units / 8yrs = 9) Repla	acements			
-[Lead: CINDY CRAMPTON]	07/01/2012	05/01/2013	/ /	Open
Eq Rotation- Printers (total: 70 units / 8yrs = 9) 09-10 Reduced cost from \$2300				
Order Eq Rotation- Replace or upgrade monitors (4% of 45	0=18) (used 15)			
-[Lead: CINDY CRAMPTON]	07/01/2012	05/01/2013	/ /	Open
Eq Rotation- Replace or upgrade monitors (4% of 450=	18) (used 15)			
Order Eq Rotation- Scanners/Faxes (total: 36 units / 8yrs = 4	l/yr) (2010			
-[Lead: CINDY CRAMPTON]	07/01/2012	05/01/2013	/ /	Open
Eq Rotation- Scanners/Faxes (total: 36 units / 8yrs = 4/y	r) (2010 was 5x\$5	00)		
Replace Library Laptops (9)				
-[Lead: RICHARD JEPSON]	10/01/2012	01/31/2013	01/25/2013	Completed
Team Members: RON WATRUS, KRIS LANGDON				
Replace laptops checked out by the library.				
Replace 1.062 (14) & 1.361 (16)				
-[Lead: RICHARD JEPSON]	10/01/2012	02/01/2013	/ /	Open
Team Members: RON WATRUS, KRIS LANGDON				
Replace 755s and 960s with 990s				
Build a podium replacement schedule				
-[Lead: RICHARD JEPSON]	10/23/2012	12/23/2012	01/23/2013	Completed
Would a 7 yr replacement schedule work? IE: plan to re components to be replaced with each of their costs.	place 1/7th of our	podiums each year.	Need to gathe	er a list of
Replace ChemLab Laptops (9)				
-[Lead: RICHARD JEPSON]	12/01/2012	02/15/2013	/ /	Open
Team Members: RON WATRUS, KRIS LANGDON				
Replace laptops in the ChemLab with the old Library lap	ptops.			
Replace 3.103 (25)				
-[Lead: RICHARD JEPSON]	02/04/2013	04/01/2013	/ /	Open
Team Members: RON WATRUS, KRIS LANGDON				
Replace BusOfc (10)				
-[Lead: RICHARD JEPSON]	02/04/2013	04/01/2013	/ /	Open
Team Members: RON WATRUS, KRIS LANGDON Use 4 from accreditation purchase and 6 from new purch	nase			
Replace Library (47) & HRCommons (10)				
-[Lead: RICHARD JEPSON]	07/01/2013	12/02/2013	/ /	
Team Members: RON WATRUS, KRIS LANGDON				

Ξ

ID#:0000027

ACTION ITEM	<i>IS</i> :			Start Date	e	Expecte	d End	Actual End	
Order Batteries -	Data Center Main U	JPS syst	tem - replace	all batteries - 5	;				
-[Lead: CINDY C	RAMPTON]			07/01/2	2013	05/01/	/2014	/ /	
Batteries -	Data Center Main UI	S system	m - replace all	batteries - 5 yr	cycle -	CHECK	ON PRICE	4	
Replace 3.102 (25)								
-[Lead: RICHARI				12/01/2	2013	04/02/	/2014	/ /	
-	S: RON WATRUS, K	RIS LA	NGDON						
BUDGET:	Year Est Qty	M.	Co	ost	Est	t Adj	Est Tot	al	Act Tota
10050541008802	08-09 Eq Rotation- for faculty &	Deskto	p computers (•			
	40			\$44,000.00		=	\$44,000.0	00	\$44,000.0
10050541008802	08-09 Eq Rotation-				of 300=	= 30) Chai	,		
	@ \$200 ea =	-					-8- F		
	30	EA	\$300.00=	\$9,000.00		=	\$9,000.0	00	
10050541008802	08-09 Eq Rotation-	Laptop	replacements/	upgrades (total	60 / 4y	r = 15) A	djust to repl	lace 10 @\$2,0	000 ea
	15	EA	\$2,300.00=	\$34,500.00		=	\$34,500.0	00	\$18,622.8
10050541008802	08-09 Eq Rotation-	Printers	s (total: 90 uni	ts / 7yrs = 13)					
	13	EA	\$2,300.00=	\$29,900.00		=	\$29,900.0	00	\$5,184.5
10050541008802	08-09 Eq Rotation-	Battery	Backup Units	- Desktop (44 /	/ 3 yr =	: 15)			
	15	EA	\$100.00=	\$1,500.00		=	\$1,500.0	00	\$3,697.0
10050541008802	08-09 Eq Rotation-	•	· •		to be F	Podium sy		· •	
	8			\$13,600.00		=	\$13,600.0		\$9,831.0
10050541008802	08-09 Eq Rotation-		-	•			software to j	purchase VM	Ware
	Foundation (ne need for addi \$12,000.00	tional s	servers. =	¢13 000 (0.0	\$2 776 P
10050541008802					ED	=	\$12,000.0	UU	\$3,226.8
10030341008802	08-09 Desktop Cor	iputer i	or Dr. roua- N	UI BUDGEIT.	ЕD				\$1,616.2
10050541008802	09-10 Eq Rotation-	Deskto	n computers (1/5 replaced per	r vr) (ta	 	5-60)(2+1a)	he worth) (fire	
10030341008802	-		.	r Ea reduced fro	• • •		, ,	us worun) (ms	at 10 arc
	60		· · ·	\$54,000.00		3,974 =	\$50,025.4	49	\$50,025.4
10050541008802	09-10 Eq Rotation-	Replace	e or upgrade m	nonitors (5% of			<i>,</i>		
	-	EA	\$200.00=	\$3,000.00		3,000 =	1,2		
10050541008802	09-10 Eq Rotation- \$2500	Laptop	replacements/	upgrades (total	60 / 5y	vr = 12) r	educed qty	from 15 & cos	st from
	12	EA	\$2,000.00=	\$24,000.00	\$-5	5,262 =	\$18,737.0	09	\$18,737.0
10050541008802	09-10 Eq Rotation-	Printers	s (total: 90 uni	ts / 7yrs = 13) R	Reduced	d cost from	m \$2300		
	13	EA	\$1,500.00=	\$19,500.00	-11	1,799 =	\$7,700.5	50	\$7,700.5
10050541008802	09-10 Eq Rotation-	Battery	Backup Units	- Desktop (44 /	/ 3 yr =	: 15)			
	15	EA	\$100.00=	\$1,500.00		=	\$1,500.0	00	\$3,326.9
10050541008802	09-10 Eq Rotation-	Podium	n system Equip	oment(multi-me	dia) rej	placemen	ts- all syster	ms \$ estimate	
	1	EA	\$10,000.00=	\$10,000.00	\$-2	2,949 =	\$7,050.5	54	\$7,050.5

=

02/14/2013

ID#:0000027

_

BUDGET:	Year Est Qty M.	Cost	Est Adj	Est Total	Act Total
10050541008802	-	Replacement $(12 / 5yr = 2)$ - c account - ? use for Zenworks			00 ea &
	2 EA		\$-3,277 =	\$4,722.70	\$3,216.00
10050541008802	10-11 Eq Rotation- Server replacing 2 due to b	Replacement $(9 / 3yr = 3)$ (3) budget.	34-Win, 14-Netwa	are) Many are virtua	l - Only
	2 EA	\$5,000.00= \$10,000.00	\$-500 =	\$9,499.12	\$9,499.12
10050541008802	-	op computers (1/5 replaced p per Ea reduced from \$1,100 fr	•		faculty &
	78 EA	\$900.00= \$70,200.00	=	\$70,200.00	\$80,457.38
10050541008802		ce or upgrade monitors (4% o	of 450= 18) (used		** *** **
	15 EA	\$200.00= \$3,000.00	=	\$3,000.00	\$2,122.32
10050541008802		p replacements/upgrades (tota	-	¢17 742 00	¢14.010.65
10050541008802	14 EA		-10,257 =	\$17,743.00	\$14,819.65
10050541008802	09-10 Reduced cost				
10050544000000	9 EA		\$-316 =	\$13,184.00	\$11,473.25
10050541008802	10-11 Eq Rotation- Batter 15 EA	y Backup Units - Desktop (44 \$100.00= \$1,500.00	= (3 yr = 15)	\$1,500.00	\$1,042.58
10050541008802	10-11 Eq Rotation- Podium	m system Equipment(multi-m	edia) replacemen	ts- all systems \$ esti	mate
	1 EA	\$10,000.00= \$10,000.00	=	\$10,000.00	\$3,444.04
10050541008802	10-11 Eq Rotation- Batter	y Backup replacements - WIR	RECLOSETS		
	6 EA	\$160.00= \$960.00	=	\$960.00	\$469.99
10050541008802	10-11 Eq Rotation- Scann	er Replacements (NEW)			
					\$316.00
10050541008802	=	ers/Faxes (total: 36 units / 8yr	-		
10050541000000	4 EA	\$400.00= \$1,600.00	=	\$1,600.00	6 1, 0
10050541008802	misc needs) (Price j	op computers (1/5 replaced p per Ea increased from \$900 ->	•		-
	78 EA		=	\$81,900.00	\$80,525.25
10050541008802		ce or upgrade monitors (4% o	of $450=18$) (used		
	15 EA		=	\$3,000.00	\$3,888.18
10050541008802		p replacements/upgrades (tota	•	U U	
10050541000000	14 EA		\$-5,325 =	\$19,875.00	\$11,631.20
10050541008802	09-10 Reduced cost				
	9 EA		=	\$13,500.00	\$8,521.04
10050541008802	-	y Backup Units - Desktop (75 \$60 (need to be purchased wit	•	·	2 changed
	25 EA	\$60.00= \$1,500.00	=	\$1,500.00	\$1,157.40
10050541008802	-	m system Equipment(multi-m =) (26units * \$384.60 = \$10		ts- all systems \$ esti	mate
	•	\$10,000.00= \$10,000.00	\$-2,875 =	\$7,125.00	\$7,599.15

ID#:0000027

02/14/2013	
02/14/2013	

BUDGET:	Veen Est.)4 М	Car	4	E~4 A J:	Est Total	A of Total
	Year Est (-	Cos		Est Adj	Est Total	Act Total
10050541008802	12-13 Eq Rotatio	10 EA	\$15.00=	\$150.00	_	\$150.00	
10050541008802	12 13 Eq Potati			36 units / 8 yrs = 4	$\frac{1}{vr}$ (2010 m		
10030341008802	12-15 Eq Kotatio	4 EA	\$400.00=	\$1,600.00	= (2010 w	\$1,600.00	
10050541008802	12-13 Eq Rotatio					rth) (first 10 are fo	r faculty &
10030311000002	-	-	· ·	from \$900 ->\$105		ini) (inst io are io	r luculty &
		-	\$1,050.00=		=	\$81,900.00	\$45,800.40
10050541008802	12-13 Eq Rotatio	on- Replace of	or upgrade mo	onitors (4% of 45	0=18)		
		18 EA	\$230.00=	\$4,140.00	=	\$4,140.00	\$2,432.94
10050541008802	12-13 Eq Rotatio	on- Laptop re	eplacements/u	pgrades (total 70	/5yr = 15) C	Cost adj in 2011	
		14 EA	\$1,800.00=	\$25,200.00	=	\$25,200.00	\$4,013.05
10050541008802	12-13 Eq Rotatio	on- Printers (total: 70 units	s / 8yrs = 9)			
	09-10 Rec	luced cost fro					
			\$1,500.00=		=	\$13,500.00	\$1,532.25
10050541008802	-	•	-	• • •		re podiums) 2011-	12 changed
	qty to 25 a		-	burchased with a p	be for best pri		¢1 2 44 00
10050541009902	12 12 En Datati	25 EA	\$60.00=	\$1,500.00	=	\$1,500.00	\$1,244.00
10050541008802	-		• • • •	384.60 = \$10,000	-	s- all systems \$ est	imate
		1 EA \$	10,000.00=	\$10,000.00	=	\$10,000.00	\$429.00
10050541008802	12-13 Eq Rotatio	on- Server Re	eplacement - r	moved to VMWar	re host replac	ement Charter 201	1 thru 2013
10050541008802	13-14 Eq Rotatio	on- Surge Pro		2012-13)			
		10 EA	\$15.00=	\$150.00	=	\$150.00	
10050541008802	-			•	• •	g will be providing for possible proble	
		1 EA	\$400.00=	\$400.00	=	\$400.00	
10050541008802	-	-	-			rth) (first 10 are fo juested a 4yr cycle	-
		r the differen		110111 \$700 7\$10.	2013 100	luested a Tyr cycle	in unotier
			\$1,050.00=	\$81,900.00	=	\$81,900.00	
10050541008802	13-14 Eq Rotatio	on- Replace of	or upgrade mo	onitors (4% of 45	0=18)		
	_	18 EA	\$230.00=	\$4,140.00	=	\$4,140.00	
10050541008802	13-14 Eq Rotatio	on- Laptop re	eplacements/u	pgrades (total 70	/5yr = 15) C	Cost adj in 2011	
		14 EA	\$1,800.00=	\$25,200.00	=	\$25,200.00	
10050541008802	13-14 Eq Rotatio	on- Printers (total: 70 units	/ 8yrs = 9)			
		9 EA	\$1,500.00=	\$13,500.00	=	\$13,500.00	
10050541008802	-	•	-	Desktop (75 / 3 yourchased with a p		re podiums) 2011- ce)	12 changed
	-1-5 00 20 0	25 EA	\$60.00=	\$1,500.00	=	\$1,500.00	
				Estimated	Total	753,602.44	
				Actual			468,653.21
				Charter Ba		284,949	
						- , ,	

Notes:

2012/13 APC Server Backup Unit-Ordered and replaced SYBT4 Batteries: (2) units PO-28954-8/14/12 (1) unit Replaced -PO-29936-10-30-2012, (2) units replaced 30084.12/102012. A total of 5 units replace 12/13 year. --CC

02/14/2013

Podiums: 5/2012: 2x 3yr old amx touch panels failed. Repair costs min \$500 ea. New \$1,400 - new panels also use POE - decided to purchase new vrs repair: Podium system dates (year-qty): 2004-4, 2006-2, 2008-19, 2009-1, 2010-1, 2011-5 Podium replacement budget formula in 2012: (#over3yrsold * x =) (26units * \$384.60 = \$10,000) -> "to do"

** "done)

Computer Labs:

1.351 (12) - 12-28-11 Podiums (22) - 09-01-11 3.102 (25) - 09-01-10 -> 13/14 1.461 (9) - 03-01-10 1.452 (12) - 01-07-10 1.062 (17) - 09-01-09 -> 12/13 Library (47) - 05-01-09 -> 13/14 1.361 (18) - 02-01-09 -> 12/13 1.334 (7) - 09-01-08 ** 11/12 3.103 (25) - 09-01-08 -> 12/13

** Total: 172 (194 w/podiums)

HR

Podiums (8) -09-01-11 Commons (10) - 09-01-10 ->13/14 1.304 (24) - 03-30-08 ** 11/12 1.309 (24) - 08-01-08 ** 11/12 1.202-204 (12) (4 in ea rm) - 08-01-08 ** 11/12

Laptops: HR cart (8) TD cart (8)

UPS Location	Battery Date:	Model #
S/N:		
BLDG1-Base-wiring closet	01/28/2008	1500RMU
BLDG1-Base-wiring closet	07/06/2007	1500RMU
BLDG1-Base-wiring closet	11/21/2008	1500RMU
BLDG1-Base-wiring closet	07/06/2007	1500RMU

ID#:0000027

_

02/14/2013

BLDG1-3rd Floor-wiring closet	05/05/2009	1500RMU
BLDG1-3rd Floor-wiring closet	05/05/2009	1500RMU
BLDG2-Base-wiring closet	10/01/2008	1500RMU
BLDG2-Base-wiring closet	11/13/2009	1500RMU
Rack 1	11/21/2008	1500D MU
BLDG2-2nd Floor-server room BLDG2-2nd Floor-server room	11/21/2008 12/15/2007	1500RMU 1500RMU
BLDG2-2nd Floor-server room	11/13/2009	1500RMU
Rack 2		
BLDG2-2nd Floor-server room	11/21/2008	1500RMU
BLDG2-2nd Floor-server room	11/21/2008	1500RMU
BLDG2-3rdFloor-PresOfc	11/21/2008	1500RMU
BLDG3-Data Center	11/13/2009	1500RMU
BLDG3-3rdFloor-wiring closet	11/21/2008	1500RMU
BLDG3-3rdFloor-wiring closet	11/21/2008	1500RMU
HRICC		
BLDG1-1stFloor-server rack AS0428310679	07/31/2009	1500RMU
BLDG1-1stFloor-server rack AS0516132882	07/31/2009	1500RMU
BLDG1-1stFloor-server rack	07/31/2009	1500RMU
AS0346210354		
BLDG1-3rdFloor-wiring closet AS0132110802	07/31/2009	1500RMU
BLDG1-3rdFloor-wiring closet	07/31/2009	1500RMU
AS0507331327		
BLDG1-1stFloor-HREC rack	08/01/2009	1500RMU
AS0330311268	09/01/2000	
BLDG1-1stFloor-HREC rack AS0402110205	08/01/2009	1500RMU

11/19/2009--CM--CC

=